1.

o B BE7] 201 v "I 2o A71E
E719] = 2719 dole?

@ 4rn @ 36n ® 64n @ 1007

=
=

g

st ©f

® 144rn



D 23 @ 3V3 3 43 @ 5vV3 ® 63



3. & a9 Y0 94 CD = 2cm , AD = 6cm & T, AODB 9]

Holt?
2cm C
ASHNB
@ 12cm? @ 20cm? @ 24cm?

@ 25cm? ® 30cm?



gg 1w 2ol 99 4 0 9
& AB, AC Afole] Ae)7} 23 AB
6cm, /BAC = 60° ©]t}. o] ©fj, AABC 9]

(7
oﬁ>>
¢!

ol=?
B C
® 4+v3cm? @ 6+2cm? ® 93 cm?

@ 12V2cm? ® 12V3cm?



ok 2ol 5 9 0,

= = GCHI, 8C1’I1 O]j_
LOAO! = 90° & 1], Z5F AB 9| Aol Tatoie}
A
D
&3
B
48 24 12
@ 10cm



TR AT &= §H2 7]
&0 9 HAHolx A A= HA
/ABC =30° 9 o), CT ¢] Zdo|&
7

ull]
1o

N

O

p

D7 @9 ® 10
@ 12 ® 13



oRe 2ol A 9 0 £ 2] Zolt
6cm 21 AABC o Yol AB =
20cm, BD = 12cm & @, AG 2] Zo]
=2 (&4 AD.E, FE=HH)

O 3cm @ 4em @ 5cm

@ 6cm ® 7cm




g 2914 90
ABC 9] tf90] 1,
Aol o], 42

9

9

@64—Z7r @ 72-4n ® 84-9x
9

@ 90-=n ® 100 - 257

4



o2 297 Zol g P 29 Q 7t
QR4 ot o Q 7HHHd O of Wi
oA Hsta ok, 9 Q & A59
do|7} 6em A o, ¥H P o] BEA]F<]

Zol?

@D 1lcm @ 2cm
@ 3cm ® 4cm




te 280 9 0 = AAAE
ABCD ©f H3gst= 2 ol ¥ O
2z

i

& 3 i) Rio] Ysle e
glojth. 9 0’ o] Yol

@ 400(10 - 17 V3)cm? @ 400(7 - 4 V3)cm?
® 420(10 — 19 V3)cm? @ 400(100 - 20 V3)cm?

® 410(10 - 21 V3)cm?






12. of8 233 Zo] 9 0 & AABC 9 YH Yol DE &= 9 0 o 3t
t}. AB = 1lem , BC = 15cm , CA = 10cm € T}, ADEC 2] =4 2]

dol=?

@ 1lcm @ 12cm ® 13cm @ 1l4cm ® 15cm



13. o 29olA DABCD £ o] 2017} 10em A Az ol
T

DE 7} BC & 2§02 st 9lo] @ o, DE ©] gol&?

A D
/1‘///’ \\‘\
/// l(l)cm
7P ,‘
E k
0 K
B T~-10cm--"~
24 25
@) ?cm @ ?cm @ 13cm
27
@ —cm ® 1l4cm



14. t©he 1304 gABCD = 3
71BC 2 A=2072 3= ¢

=
2 D
6L:m
e/ P ;
[0}
B~ gem--""C
25
@ icm @ ?Cm @ 13cm
27 2
vz ©® Lem



15. the TlA A D, B, F i M2H42Hg ABC S A9 0 ) HHY
W, 90 9 Wl

~4emDT-6cm--"

@ mcm? @ 2rcm? @ 3mcm?

@ 4mcm? ® brcem?



